spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

Mean Spectrum

2000
A (B) z = 154848

RMS Spectrum

rm552

BLR 15000 NLR 900 km/s

\\H
y\li.Vﬁv‘h,.m“, FVRTRORIT [TOWe 3

Mgl ' 4
I 1 1 1 1 I 1 1 ] 1 I 1 H IHIHI hHIHIHI
2000 3000 4000
A Q@) z

1.54846

x(\t) = ( Data — Model A ) /o x

i T (ANl S L LM O
e e

sk AT

(AR

Ml B TR e a  TE B
R R Ml A
o L A s sl AR S A BEN r\‘\t{““‘v R i i sl
A A At Al pp I SR iy
0 ko s o o g A
e L T T e R L cAn
y e et N SN it
e “"1“!“‘\“1““ i
ottt o sl e hd R R
i el it bR i e R A b TG S R R
e ot L A S S A e N R A e
N e A G R
e S A RSB
A Ul e e S A R it
i ‘ SR R AT i
1500 2000 3000 4000 .
bad:3180=0.77% A (R) z = 1.54B846
u = —0.014(20) x = 1.026(B3) => 1.026(83)
rm552 med(mad) A
! T T T T ! T T T T I T T T T T Il Il T T Il T lI
R e P SR e R N AR T e L2k el
b Ut A R A E ki b R i A i b AR
1500 2000 3000 4000 .

A (R) z = 1.54846

-1

f) (10717 erg em™2s7'87")

0.2

-0.2

15 20

10

1.3

1.2

0.9

Continuum Lightcurve
rm552

L L e Eo e e e LA B S ey B B S S S |
ro
N

0
Ac %

5o

14108 )
7000

18364 )
7500

23908 )
8000
MJD — 2450000

31114
8500

40508
9000

BLR Lightcurve

MJD — 2450000

Corrections

rm552
- 1T rrrrrrr 1T 1 T 1
L " " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " I-

7500 8000

MJD — 2450000

u = —0.00(24) x = 0.951(24) => 0.951(24)
med(mad) A
—— .

-
I

7500 8000
MJD — 2450000

NS




